Name: NBT.6 Divide Whole Numbers Date:
Resource Page
Vocabulary:
Quotient 25 Dividend
25+5=  25divided by 5 = bivisor) Dividend Il ——
Dividend =+ Divisor = Quotient

3,180 + 15 = 212
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Division Strateqgy: Partial Quotients
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Division Strateqy: Multiplying Up
362 +.15 362 + 15 445 + 15 = 30 T;%
15 x 1I0\= 150 or 15 x{20\= 300 ==
Lor 1 10=1
15 x[10}= 150 15=60 >x10=10 295
15 x| 2}= 30 15x 10 = 150 =150
15 x\ 2/= 30 15 x 24 = 360 145
+2 15x5=75 - 75
15 x 24 = 360 362 15x 3 = 45 70
+ 2 - 45
362 362 + 15 = 24 R2 15x2 =30 30
- 30
362 + 15 =24 R2 0
Division Strategy: Standard Algorithm - Long Division
How to Divide! 0 06 064
B 7)452 7)452  7)452
Does (divide) 0l 0 0
McDonald’s X (multiply) 45 _Tél Tfls
Sell - (subtract) 42 ‘4_2
Cheese (check) 32 _32
Burgers l(bring down) 28
Raw? (repeat or remainder) 4
i 2 Step 1: “How many times?”
Divide: ‘vl'_];l_s gl Step 2: “Multiply”
ol Step 3: “Subtract”
—2 Step 4: “Drop it down”
Multiply: 3)15 2%3=0 (Repeat steps for each number, left to right)
Le— —
2 0 103rl4
Subtract: 3}? 03 0rl |
! 0
9 4 6
2
Bring Down: 3)15 12 45
'i;r 1 2 _
1 —_ =
0 1 14
3 0 0
Repeat: E 35 I5+3=5 —_— 149
_1:35 5¥%3=15 1 135
=1
) 14
Division Strategy: Short Division
76 -4 =19 362 +-7=51r5 7193 + 17 =423
5 1
19 0 4 2 3
7 | 3612
4|736 35 5 17 |7 1 °9 %1
Step 1: How many times does 4 go into 77? 5

It goes into 7 once and has a remainder of 3.

Step 2: How many times does 4 go into 367

It goes into 36 nine times and has no remainder.

See website for cited sources




